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The force of interaction between two atoms

2
X
is given by F=afjexp —W ; where x
4 u'ktj

is the distance, k is the Boltzmann constant
and T is temperature and « and [5 are two
constants. The dimension of §§ is :
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A particle is moving along a circular path
with a constant speed of 10 ms I Whatis
the magnitude of the change in velocity of
the particle, when it moves through an
angle of 60° around the centre of the
circle ?

Options:

1 Zero

103 m/s

2
3 10v2m/s

4 10 m/s
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103 m/s
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A body is projected at t=10 with a velocity

10 ms—1! at an angle of 60° with the

horizontal. The radius of curvature of ils

trajectory at t=1s is R. Neglecting air

resistance and taking acceleration due to

gravity g =10 ms 2 the valueof Ris :
Options:

L 25 m

=) 5.1 m
5 2.8 m

4 103 m
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A liquid of density p is coming outof a hose
pipe of radius a with horizontal speed v and
hits a mesh. 50% of the liquid passes
through the mesh unaffected. 25% looses
all of its momentum and 25% comes back
with the same speed. The resultant
pressure on the mesh will be :
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A body of mass 1 kg falls freely from a
height of 100 m, on a platform of mass 3 kg
which is mounted on a spring having
spring constant k=1.25x 10° N/m. The
body sticks to the platform and the spring’s
maximum compression is found to be x.
Given that g =10 ms 2 the value of x will
be close to:

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all

candidates.
Options:
1 4ecm

5 Scm
5 40 cm

80 cm
4,
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Note: For this question, discrepancy isfound in question/answer. Full Marks is being awarded to all

candidates.
Options:
1 4cm

5 Scm
5 40 cm

80 cm
4.
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A slab is subjected to two forces F; and
=
F> of same magnitude F as shown in the

figure, Force F5 isin XY-plane while force

F, acts along z-axis at the point

—> —>
[2 £ +3) J The moment of these forces
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An equilateral triangle ABC is cut from a
thin solid sheet of wood. (See figure) D, E
and F are the mid-points of its sides as
shown and G is the centre of the triangle.
The momentof inertia of the triangle about
an axis passing through G and
perpendicular to the plane of the triangle
is I;. If the smaller triangle DEF is removed
from ABC, the moment of inertia of the
remaining figure about the same axis is L.
Then :

A
/\
D/ 'fg,\E
;f; G
L NE N
B F C
Options:
I
I f
1.
3
=t
2.
9
= 16
15
=—1
I 160
4.
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A satellite is revolving in a circular orbit at
a height h from the earth surface, such that
h<<R where R is the radius of the earth.
Assuming that the effect of earth’s
atmosphere canbe neglected the minimum
increase in the speed required so that the
satellite could escape from the gravitational
field of earth is :

Options:

J8R

1.

.
gcollegedunlas
India’s largest Student Review Platform



5 oAf2
. VER(2-1)
gR

4 V2

Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e il BeE ¥ h FAE T UEF SE 0F I
FH H 50 WT T @1 ¢ 7 h<<R ¥@ R Jeat
# B ¥ A fF yeE F agEvea &
A T0E & | el = | T A 9t
21 =ifen e o 3uue g % o aF
| qET T TE

Options:

JeR

1.

gR
5 ..I'.?gR
-..I'I'S_R( 2-1}

31

=

2 |":"%

4.

Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Yool qwzlell h Glug w =is Guas aduuse
ST WHEL 52 O 5 el h<<R 2 R y2e{l-l
Bl 8. yeedlrl scirensl 21434 211l
yedldl 23eais™el izl eesdl Bevul sl
A HARL e !

Options:

NES

1.

J28R

2.
Qcollegeduniag



3

Question Number : 9 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

40°C 50 g 9T H — 20°C R Tl =% e
F | =& fago 1 aeEE 0°C 3 S 9 e
S & 5 20 g T a1+t off o gg 81w A
THE T = =1 A F AfAEE A4 o
(5 =t fafere Fem=4.2]/g/°C

T i fafere sen=21]/g/°C

0°C 9 5Te1 =l HeH S#1=334]/¢g)
Options:

. 008

> 40g
3 g

4 100 g

Question Number : 9 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

40°C ¥R 150 g welll — 20°C u el vizs

Giizaml =uel 6. 24 Fmel sl 0°C w wE

89 IR g sdoll W 5 ol €89 20 g GAR5 LRI

PiRAl . welul Gzl 2usd viRslL 2l
Al As9sl eal.

(weldl ERre G =4.2]/g/°C

ozgedl [z Glvu =2.17/g/°C

0°C W gl 21 Glad=334]/¢g)

Options:

. 608

> 40g

3 g

.
Qcollegedunlas
India’s largest Student Review Platform



4 100g

Question Number : 9 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Ice at —20°C is added to 50 g of water at
40°C. When the temperature of the mixture
reaches (FC, it is found that 20 g of ice is
stll unmelted. The amount of ice added to
the water was close to
( Specific heat of water=4.2]/g/°C
Specific heat of Ice=21J/g/"C
Heat of fusion of water at0"C =334 ]/g )
Options:
), O

> g
z g

4 100 g
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A rigid diatomic ideal gas undergoes an
adiabatic process at room temperature. The
relation between temperature and volume
for this process is TV*=constant, then x is:

Options:
2
1. 3
2
5> 9
5
z 3
3
4. 3
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A gas mixture consists of 3 moles of oxygen
and 5 moles of argon at temperature T.
Considering only translational and
rotational modes, the total internal energy
of the system is :

Options:
; 4RT

> 12RT

= 15 RT

i 20 RT
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A particle undergoing simple harmonic
motion has time dependent displacement

Tt
given by x(t) = Asin 0 The ratio of kinetic

to potential energy of this particle at
t1=2105 will be :

Options:
1, 1
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Equation of travelling wave on a stretched
string of linear density 5 g/m is
iy =10.03 sin(450 t —9x) where distance and
tlime are measured in Sl units. The tension
in the string is :

Options:

1 9N

> 75N
3 10N

s 125N
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In the figure shown below, the charge on
the left plate of the 10 uF capacitor is
30 pC. The charge on the right plate of

the 6 pF capacitor is :
N

- | lEr F
< “

-L._H.
Hﬂ'\.__\‘
-_-___.-""\_{ }_

-~ 2 F"-'F

| |
10 uF | 7 T
Options:

4 —12uC
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Three charges Q, +qand + qare placed at
the vertices of a right-angle isosceles
triangle as shown below. The net
electrostatic energy of the configuration is
zero, if the value of Q is :

Q

tq Tq

Options:
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The given graph shows variation (with
distance r from centre) of :
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Potential of a uniformly charged
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Electric field of a uniformly charged

= Sspherical shell

Electric field of a uniformly charged

4 sphere
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Two equal resistances when connected in
series to a battery, consume electric power
of 60 W. If these resistances are now
connected in parallel combination to the
same battery, the electric power consumed
will be :

Options:

1 60 W

o 240W
5 120W

4 30 W

Question Number : 17 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

F1 e Wil 1 o Avis § U Sl |
Sred € @ 9 60 W Taea wifem =1 3949m #a
&\ afe 9 ufadsl 1 o9 99" FH § T4
S T S T A ST F T v g
Options:

1 60W

. 240W
5 120W

4 30 W

Question Number : 17 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
of U 2RI sl 2is oedl A Sella
sASHRL 2 8 B o 60 W et 42 6. oo
sl 2ils¢ HHREA HHIAR sAsIeH 2lsy A2l
sl 20 ol el [Eyd wer @l
Options: P collegedunia



[ 60W
5 240W
s 120W

30W

Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

In a Wheatstone bridge(see fig.),
Resistances P and Q are approximately
equal. When R=400 {}, the bridge is
balanced. On interchanging P and Q, the
value ol R, for balance, is 405 {}. The value
of Xisclose to:

Options:

1 401.5 ohm

5 404.5 ohm

= 402.5 ohm

i 403.5 ohm

Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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uF =iewr 9q H (o 2figd) qfadg P aen
Q TN AR 1 WA R=400 ) € 1 ¥4
Hafed 21 P a41Q 1 WO F5ei T, g =i
Heaferd 7 % o R 1 9/ 405 Q 1 X =1
AfAHz 7H 2 :

Options:

1 401.5 ohm

5 404.5 ohm

= 402.5 ohm

4 403.5 ohm

Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
s edlRalA [boratl (2us(d sp2il) &od P 214 Q
Al IJeliniz @2eEL ML 8. sz R=400 O,
[btor et U 8. P 2t Q Al 2geieizdl s2cu
Hed M2 R + 44 405 Q 8. X o 4y
Al %5 el

Options:
1 401.5 2AlH
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5 404.5 2Hl¢H

L 4025 »lgd

4 4035 #lgd

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

In an experiment, electrons are accelerated,
from rest, by applying a voltage of 500 V.
Calculate the radius of the path if a
magnetic field 100 mT is then applied.
[Charge of the electron=1.6x10 ¥ C
Mass of the electron=9.1 x 10~ 7! kg]

Options:
5> 75%1072m

5 75x1074m

i 75x10" % m

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

ol vl Rz Bkl ddszid 500 V
AR WA nabld sl 2ud 5. ed ol
100 mT sreq 2jeisls #A qp) wseHl 20 dl
atld vl Bse 2w,

(desgid wel [Bgdez =1.6 x107 19 C,
Selsgletd B =9.1x 103 kg)

Options:

5 75x10 Zm
5 75x10 4m

i 75x10 % m
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Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T FAT H Sersed 1 faum = 1 500 V
Sieed e T Hd € | 99 i =21 9
FITaU Afg T T THEEE A7 100 mT )
( SeTaEA = A =1.6 % 10 ~ 12 C, sova2
=91 x10"3 kg)

Options:
1 7.0m

5 75%10 2 m
z 75x10 4m

i 75x10" 3 m

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

There are two long co-axial solenoids of
same length . The inner and outer coils
have radii r; and r, and number of turns
per unit length n; and n,, respectively. The
ratio of mutual inductance to the seli-
inductance of the mner-coil is :

Options:
Ny
n
i, P
n B
2
n I
g o 4
By 3
n I
=3 1 2
ny
I‘lp_
4,

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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TRt a9 T YT 1 S 8P

Options:
Ny
In
i, e
n n’
2
In r
> 1A
By 3
g Ty X
ny
112
4

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Hld dettd 1 AL oL dietl W3bgld Hd-Bs 6.
sl 252 2 otgrAl ol Bl 1, i
Iy, #ir Mo 2i5% dend izEiqAl dudl ng 244
ny, 5. 2EAl 2[U0UAL 2l WeL 9l

VYRR 2JCliriR .
Options:
n3
n
;M
n
2
In r
> 1 A
s ML 1
g By Ay
ny
I‘l_j_
4.
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Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
In the circuit shown,

R k!
MmNy R
-EZ
5
| | = 1
1
£

the switch 5'1 is closed at time t =0 and the
swilch 5, is kept open. At some later
time(t,), the switch S, is opened and 5, is
closed. The behaviour of the currentl as a
function of time t’ is given by :

Options:
14

/_/’

4

Note: For thisquestion, ambiguity isfound in question/answer. Candidate will get full marksfor this question if any of the correct

options are chosen.
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Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
e ity =1 fr= fem | femmn o ¥
R L,

) —y—,
.-x\. S ..r'n'v TR

)

&

- S']

-
-

|
|
E
t=0 W f=e S, == & wafw fe== S, gen
w1 o " (1) F IvEn fEa s, e
RS, T T AW 1 H WA F WA Ui

THy femran = 9 2 -
Options:
1 F 5
N
/N
.-"'/ i \H.. i >
1 t, t
I s )
'
||' s
/ TR
P to t
I+
Y
v
PN
| k.
3 £, t
I e
/z"”" i \\\\
A )
: N
; t t

Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct

options are chosen.
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Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

TR VTS

R L
SVAVAY A S—
5
S
| | ,-*"’. 1
H
£

=0 HHH 5N S, G stz 50 S, A veedl el
e B, 518 uslHL WL () 2150 S, A vl
A 501 S, A Ci8 SRl A B, el Wl T
A AL [EE KL s olb 24pdl
U1

Options:
IJL
i,
| ‘\\
1 i, t
I.lk )
N
[ I
A
b tm t
[ 4
o
v
PN
1 \\
3 t, t
IJL
/,f‘"- :h\\
P )
. | N
t, t
4,

Note: For thisquestion, ambiguity isfound in question/answer. Candidate will get full marksfor this question if

options ar e chosen.
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Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

50 Wm ~ 2 g &1 U Tae@ T9=aE 90 ‘n’
STEGAIF o+ UF ArAH | T R sm E
IV AT S | T F e H w0 O
A gy oA & = 9 a9 TEEE

51 1 S HET: B

Options:

1
Az

(4, m)

&%

—

4.

|

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
n AlstEdls guedl =i HEdHl 50 Wm 2

cllstctid] @iy [Egjoisly Ao sy weaL 91 usl
. il B2 HEHHAHL MRl Wdel 2 wslHL

[CiycttatloAl 29l 24 2eisl gotel 2Bl -
PO

Options:

of DY 2 89,
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Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
An electromagnetic wave of intensity
50 Wm ~ 2 enters in a medium of refractive
index ‘n’ without any loss. The ratio of the
magnitudes of electric fields, and the ratio
of the magnitudes of magnetic fields of the
wave before and after entering into the
medium are respectively, given by :

Options:

T
(Ve

z J

+ =

=
b —

™

=t

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
An object is at a distance of 20 m from a
convex lens of focal length 0.3 m. The lens
forms an image of the object. If the object

moves away from the lens at a speed of

5 m/s, the speed and direction of the image
will be :

Options:

1 226x10 ? m/s away from the lens

5> 116x10 > m/s towards the lens

= 3.22x10 3 m/s towards the lens

4 0.92> 10 ~3 m/s away from the lens
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Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

0.3 m FIFH T F TH 3961 o9 J FE 959
20 m F g0 WE| =9 G T F giata
A ﬂﬁ?ﬁﬂﬁ@ﬁ?Sm{sﬁﬁﬁ
T A & W Wiafere 1 91 SR e &
Options:

, 226x10 3m/s, THHTT

> 1.16x107% m/s, &0 1 A

5 322x107%m/s, & H AR

, 0.92x10 3 m/s, T H T

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

0.3 m s-gdetdl s el sl 20 m AL

vice 2l ddg Yo B, UL 51 g wldlGe

3 5. o @il 4 5m/s Al 254 2l sl 52

dzs ald 53, dl slaldel 264 24 (B30
al.

Options:
] 226 %10 *m/s, ol &R

s 1.16 x 10 "3 m/s, 51 35

z 3.22x 1073 m/s, 51 o35

4 092x107° m/s, sl §2

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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In a Young's double slit experiment, the
path difference, at a certain point on the
screen, between two interfering waves is

1
Eth of wavelength. The ratio of the

intensity at this point to that at the centre
of a bright fringe is close to :

Options:
1 074

> 0.80

3. 0.85

4 094

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

7T = T Torll W H, 92 % Ue farg T =afaeram
T e S T FH IR e H % T
¥ TH fag W digan a1 & fFs % g W
GIEGIEA G GRE U En

Options:

{ 074

> 0.80

= 085

4 094

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

ol A (B2l MM WSEL YRl 518 15 ALy
(G ur erldszer wadl A dioll 92l yu-

o B .
Aslelr 291 detld-l g U pHL e, = (615 2

Ustlld AstAL 5e¢ il szl 2eis
Al %5l B.

Options:
1 0.74
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= 0.80

= 085

4 094

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

[f the deBroglie wavelength of an electron
is equal to 10 3 times the wavelength of a
photon of frequency 6 x 101 Hz, then the
speed of electron is equal to :

(Speed of light=3x10% m/s

Planck’s constant =6.63 < 10~ 4] s

Mass of electron="9.1 % 10 31 kg)

Options:
1 18x10°m/s
5 145x 106 m/s

= 11x10°m/s

4 17X 10° m/s

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Ife ol & Si-ae atres 6 x 10 Hz
AR F F2E FT Fe F 103 [ Al
Eﬁﬁgﬁﬁﬁiﬂﬁl‘ﬁ:

(Temn & warmer =61 =1 =3 10° m/s

i adF =663 x 10 3] s
SoieReA 1 BFHA =9.1 x10 3 kg)
Options:

1 18x10°m/s

5 145x10°m/s
z 1.1x10°m/s

4 L7X% 10° m/s

Question Number : 25 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes SingleLil

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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sd #i5 Bdseiq-dl sl-uledl diadend «
6 x 1014 Hz disdeiddl sieiq-l d@odeud-l
1073 aell 8, dl sd2iH-l 2oy il
(usiatl 26u=3 %108 m/s
Tl HUIS=6.63x10"M] s
gzl En=9.1x10 3 kg)

Options:

1 1.8x10°m/s

5 145x 106 m/s
= 11x10°m/s

4 L7X% 10° m/s

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A hydrogen atom, initially in the ground
state is excited by absorbing a photon of
wavelength 980A. The radius of the atom
in the excited state, in terms of Bohr radius
ag, will be :
(hc=12500 eV-A)

Options:

1. 4ay

9aﬂ

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
MBI U312 2 1 Glav-t 412 980A
AZdedl sl 2imel 53 Glvd iy o,
ollsz Bleatl ag AL ugnl, Gy »eravl
el Bsa 3.
(he=12500 eV-A)

Options: gcollegedunias



Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

ARFSF §e AGe H BEere T 980A
T 1 R AFfad FT Iufad & S
21 TH sHfad W § wam S G
ﬁﬁﬁmaﬂaﬁwfi%ﬁ’ﬂ:

(hc=12500 eV-A)

Options:

: 4aﬂ

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In the given circuit the current through
Zener Diode is close to -

Ri:
8 1?5[]{] ()
T ! L 2
R,<1500 02 4 V,=10 V=R,
1 1 9
Options:
1 67 mA
5> 40 mA
= 0.0 mA

4 60mA
' Qcollegedunlag



Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

fea T 9oy ¥ 57 =@ | 4R F S
I B

RiZ500 0
]

ﬁ
f|-’v2=-m VER,

>L
el = 4
R, %:159111 0

Options:
;67 mA

5 40 mA
3 0.0 mA

4 6.0 mA
Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
e WA e SIHLSHIAL Mol ]

Al 4595l S5l

K42
s 12500
P 9
T ! [ <
R4 <1500 02 Lr V,=10 V=R,
1 |
Options:
{ 67 mA
5 4.0mA

5 0.0 mA

4 6.0 mA
Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Qcollegeduniag

Correct Marks: 4 Wrong Marks: 1
Anamplitude modulated signalis given by

V(1) =10[1 + 0.3cos(2.2 % 10*t)]sin(5.5 x 10°t).
The sideband

Here t is in seconds.
frequencies (in kHz) are, [Given w=22/7]

Options:



| 8925 and 857.5
5 89.25 and 85.75
3 1785and 171.5

4 1785 and 1715

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T AW Higfad fEa e e #
‘J{t} = 1{][1 0. kns{f* 2 X 10‘41}]*;.111{5 5% 10°t)
TE t WFUT H T UNE A FH A
(kHz ¥) 2t : [fem & w=22/7]

Options:

| 8925 TF1857.5

5 89.25TH185.75

5 1785011715

4 1785741715

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
25 2pydlesys Hisydes (e

V(t) =10[1 +0.3cos(2.2 x 10*)]sin(5.5 x 10°t)
4l Byl 20l 5, il o ds-sul B, wes

ol il (KHz H ) sal.
[7=22/7 »dd 8.]
Options:

;8925 241 857.5

5 89.25 4 85.75

- 1785 w1715

4 1785 =14 1715



Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

The variation of refractive index of a crown
glass thin prism with wavelength of the
incident light is shown. Which of the

following graphs is the correct one, if D

1

is the angle of minimum deviation ?

1.535 t
L]
1.530 ¢ .
[ —ts 1= \"\_
1.525 \.\
1520 1 e
K‘H“"H«..._
1515 1 e
1.510 ——————+——A\ (nm)
400 500 600 700
Options:
Dm
II"'-.l\
\\“M.R_%
. t . . = A {nrn)
1 400 500 600 700
Dm
."fll
.-f-lr
A
: : : i * N (I‘Ll"l'l}
= 400 500 600 700
Dm
/~
."Ilrf
t } t t * N
- 400 500 600 700 (nm)



m

. ' : ! Y (1’1]‘1’[}
400 500 600 700

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

F 3 9 o A

SATITE TRy 1 Te s 3wy femm T
Az D, A far=ed wm & @ f 5 3 &9
|UTE TR R 7
1535 |
Ny
1530 1 3
1525 + N
1520 1 \\\_
1.515 | e
1.510 —————————\ (nm)}
400 500 600 700
Options:
DTT'I
\
S
"“\-\-\_ﬂ_ s
: ' ——t > A {nrn)
. 400 500 600 700
Dn'l
)
.-f-lr
.-"ff”;
" " " } * (I‘Ll"l'l}
5 400 500 600 700
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Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
$1GA 2612441 Aol Bleudl asleiadisl 2udiqa
Usiatrl dndes HBiHl Hedd seldd 5. e
D,, = a5y [add O, dl -lmisl s wudm

WAL ST
1.535
Ny
1.530 1 %
\
1525 = N\
W,
1520 1 N
1515 1
1.510 } : : : A (I'I. JI
400 500 600 700
Options:
DTT‘I
'._"'\\
\\x.h
: ; ; i * A {nm)
L 400 500 600 700
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Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The resistance of the meter bridge AB in
given figure is 4 {}. With a cell of emf
£=0.5 V and rheostat resistance R, =2 ()
the null point is obtained at some point J.
When the cell is replaced by another one of
emf £=¢g, the same null point | is found for
ha 6 ). The emf £y is,

£
| |
| |

S
i

AR AN A A
WAA——

Options: Qcollegeduniag



{03V
5 05V
2 04V

06V

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

fed 73 uftysy § Hier Hg AB F IR 40 2
faaiad e=0.5 V a9 a1 FaEF & 9y
R, =20 F oy fag) muyradm e 5=
T T # a3 e =¢, F1 99 J 750 30 ©
@R, = 6O & Tord I fog T | T THer

g faaad e, 2
£
||
| !
A 3 J? B
6V Rh
Options:
1 03V
> 05V
5 04V
06V
4.

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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20 gl dleroller AB Al el 4 O 9,
e=05V s2q emf 4Rl 514 2 R, =2 O
avedl kedlrez W@ 5185 [0 T wat der g
HOLS. sl 514 Ulod £ = &, o72EL emf YL
siEl cEdaMl U9 8 i Ry = 6 O e T [4g
2RI o7 A2 (G 4L S g, emf

%3l
E
| |
| !
I.-";r".l
L
AR : 2B
J
I I AMMBAN,
6V Rp
Options:
1 03V
5> 05V
z 04V
06V
4.
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Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Among the following compounds, which Q S
one is found in RNA ? g e



Options:

O
Jiy
i NI
|k
1 H
P
NN
L
EITI o
i H
O
A

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

A2 2deL sl Usl 20 RNA 4 sddl 3ol

6517
Options:
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Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

fA=Aferfga aifei § 9 %4 91 T RNA o

T AR ?

Options:

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Nuectinn Ontinn -

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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The polymer obtained from the [ollowing
reactions is:

(i) NaNO,/H,O*

~NH, /7
(i1) polymerisation

HOQC

Options:

i
{or;l (CE {2}40}
n
i 1 1
*EH_NC (CH,); —C— 1\:}
2 2
i
n
3.

O
R
C—(CH,); —N

n

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TFefafea sAfafwEnei § 9d 29 9 9ga®
¥

H » +
_Ni, ©NaNO,/H;0

HOOC: ™ = {ii}ﬂgﬂi‘aﬁm

Options:

{o C (Cl {g}a@}
T §
{HNC (CH,); —C— 1\.‘5L
n
2




Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Al 2l sl g Hadl vigds (polymer)

2UEL
(i) NaNO,/H,O*
PRI - - .
HOOC (ii) “tgellszel
Options:

i
{or;l (Cl {2}4@'}
1 o

T 7 1
HNC (CH,);—C—N
n

P
0
O—(CHy)y—C
n
=
|| H
C—(CH,);—N
n
4.

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The major product of the following reaction

15
- rtt:-:C:rEZHg (i) KMnO,/KOH, A
>

JH | (i) H,SO, (dil)

CH ;
= W collegedunia:
Options: T s et St i st i



f_,;.-ﬁjcocml I
I

. HOOC B &
A~ Tmm
., HOOC
"\“.“QC:W-___,-"
. OHC
/[ — ]/CDU L
, HOOC

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

fereAferfan st 1 99 3 &

= ~COCH3 (j) KMnO,/KOH, A
(i) H,SO, (e73)

e
H"\:.-'

CH,
Options:
f_;mjcocml I

ool >

| ;.mT COOH
J/'““ ,-*'|

o HOOC

=

"QL‘:__.-'

L

- OHC



N ]/CDL H,

._ﬁ-\._\
S

, HOOC

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Al el ulsuAl yva Alvse 2l 7

/[a ) (ii) (£) HoS0,

Options:
25y ‘/CDCC)DII

J -

Heoe

,«T COOH
JT‘“ ,-*'|

HOOC

SN ’/ COOH

e, -~

AN rcon H,

s,
e

HODL

e

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The major product of the following reaction
15 :

OH
i

” Br, {exc&ﬁ}
W
SO,H

Options:

.
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Br. - m,|_ rBr
S
SO;H
1. o
2.
=3
4

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

SO, H

.
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OH

__;;;xl M_J/Br
5 SO,H
=
4

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A2 2l ulrnl Yoo Alusy 2l 7

!‘|C}I—I

H” Bry (4445l

-n_\_\‘.. -

SO;H

Options:

Br, =~ _Br

.
Qcollegedunlag
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Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The major product of the following reaction
is :

SN
/ KQ"H (i) HBr

i ”
\ /(i) ale. KOH

O
Options:
OH
{
7
E 4
1. O
Cl
=
({f 'x.\
7
o o
/TN
{‘I- .r'r}:l
'-._‘.- _f
f”} i
z OH
Cl
;‘r by
¢ )
\/: S
4, o

.
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Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

ettt SAf4fran =1 9e1 39% 2 -

/N (i) HBr
\/ (ii)alc. KOH

*

O
Options:
OH
._'_.-' b9
{ ,:'
A
1 Q
Cl
—
{"f \
> D/
f’.rf_ \'f‘-.
'-._:-.__" r {:';
/}1— {r‘.
z. OH
Cl
\_)=-‘_-‘
()
:; If
4 ©

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Al el ulsiell Yo sy 20al 7

q

/N (i)HBr

{ p ———b
N/ (i) 2uesléldl KOH
4

Options:

.
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Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

Which compound (s) out of the following
is/are not aromatic ?

% ::FI,/ H'M{:j’ff ol
(A) (B) © (D)
Options:
 (B)

2. (A) and (C)

. (), (O)and (D)

, (©and (D)

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Ouestion Onption :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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fr=feafaa 9 9 =9 9/ | AT tnfes T8
/g7

Options:

, (B

, (&) 1 (C)

. (B), (©) 71 (D)

, (© @ (D)

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Al 2L Ao (L) U8l sal (A1) =Riks
27

T 7 T AN SN

\ [} W
¥, f W
l\-'x /! f {IE-L I; { 1 L \‘
h "}lr ‘\\.-f"f/ e - 5 -

(A) (B) © (D)

Options:

. (B
5 (A) 1 (Q)
2 (B), (C) i (D)

, © > (D)

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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The major product of the following reaction
is:

- || —
[:‘-*"‘*' H""“-|~ T T~OEt (i) Ni/Hy ,
1) DIBAL—H
= - CN { )

Options:

-
'-f"'-"-"" e ___.-’--Hh\"\-

l OH

S ~_~~NH,

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

1 aafuferan 3w 2ramen T SeUE R
i

[;:\”j ~opt ONi/H,
ii) DIBAL—11
s on @

Options:

.
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[:‘ x.l " NH

= ’*J\ J

3 i by g
r;’f’-"“‘ﬂjf{“t}] |
"‘?'3-?::_,”*"' "~..,_;"f--xN]_I2

4.

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

A2k 2auel uluAl Yoo Alse 20a?

s db NN
AN Nopy ONi/Hy
(ii) DIBAL—H

L e
Options:
ik
e e
|\/.-"' H[ - . D
.S ~_~CHO
.-'f'-:xaml]_.-""fb"bpf
B
et P
I:e M._IJ: NH
o R ‘m..f"J
e
(’ “‘[”“ OH
T S ] ] | 3
4.

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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The correct match between items 1 and 11
is :

Item - 1 Item - 11
(Mixture) (Seperation method)

(A) H,O :5ugar (P) Sublimation
(B) H,O: Aniline (Q) Recrystallization
(C) H,O:Toluene (R) Steam distillation

(5) Differential

extraction
Options:

(A (R) (B)»(P); (C) (9
o (A)>(5); (B) »(R); (O »(P)
3. (A)>(Q); (B) »(R); (C) »(S)

4 (A >Q); (B)>(R); () (P)

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

TET | 9 11 % = el g §

g | o2 1l

( Tagr) ( geraRToT fafer )
(A) H,O: ¥ (P) FeATEA
(B) H,O:uFe  (Q) Y fereem
(C) H,O: A (R) M9 #HaH

L

(S} THTE SATHEA
Options:
A (R); (B)»(P); (C) »(9)
o (A)>(5); (B)»(R); (O>(P)
z (A)(Q); (B) »(R); (C)»(5)

4 (A Q) (B)>(R); (©)(P)

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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HEL (1) 2 ¥R (1) HeE L A east

oW | Y
( B=e) ( =apllsel weadl)
(A) HO: 2 P) Gledua-

(B) H,O:=[Hdl1 (Q) wlisea
(C) HO:ekeygpd  (R) w30 [Hed
S)  [Asa [Hsdey

Options:

;A (R) (B)»(P); (C) (9
o (A)>B) (B)>(R); (O (P)
2. (A)>(Q); (B) »(R); (C) »(S)

4 (A >(Q); (B)>(R); Q) (P)

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The correct match between item (I) and

item (11) is :
Item - 1 Item - 11
(A) Norethindrone (I?) Anti-biotic
(B) Ofloxacin Q) Anti-fertility
(C) Equanil (R) Hypertension
(S) Analgesics
Options:

1. (A)>(R); (B)>(P); (C) >(5)
2 (A)>(R); (B)»(P); (C)>(R)
3. (A) Q) (B) »(R); (C) >(5)

4 (A)HQ); (B)»(P); (C)»(R)

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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TS (1) 91 (1) % == 2 gHA ©

Uz | T2 1
(A) ARufETEH (P) et
(B)  ATTFAERATIEA (Q) Wide &rwan
(C) TFfA R) HfFaE

L} ™~

(5) HISTERI
Options:

1. (A)>(R); (B)»(P); (C)»(5)
o (A)>(R); (B)»(P); (C) »(R)
= (A)(Q); (B) »(R); (C) »(5)

4 (A)Q): (B)»(P); (C)»(R)

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

HEL (1) 2yl (1) |l Aoy d sdsl

SN Y
(A) Al (P)  uldsre geml
(B)  ilselsulin Q) eilRlas
(Q) sl (R)  zsclgie 2l
(S)  dEAus?
Options:

1. (A)>(R); (B)»(P); (C)»(5)
> (A)>(R); (B)»(P); (C) »(R)
= (A)->(Q); (B) »(R); (C) »(S)

4 (A)Q); (B)»(P); (C)»(R)

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Anorganic compound is estimated through
Dumus method and was found to evolve
6 moles of CO,, 4 moles of H,O and 1 mole
of nitrogen gas. The formula of the

compound is : Q collegedunia:



Options:

1 CIZHHNE

5 CpHgN

= CﬁHENP‘_

4. CeHgN

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
TF FHEAEF ATF T =T G g aEer
FT I 9 T fE 6 Hiel CO,, 4 7 H,0
A1 1 HieT sere Scafed 21d & | 59 A
?5111_3[%:

Options:

. CpHgNy

» CpHgN

- CeHgN,

4 CeHgN

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

w5 sledlHs uged sy veadl 98w
520l 6 Hid CO,, 4 Hld H,0 24 1 Hld Aglor
o, GEed & Ay gH usy dl Hdler YA
2l

Options:

1. CIEHHNE

5 CpHgN

- CeHgN,

4 CeHgN

Question Number : 41 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes SingleLil Qcollegedunias
No Option Orientation : Vertical T s arset St i o



Correct Marks: 4 WrongMarks: 1

The correct order of the atomic radii of C,
Cs, Al,andSis:

Options:
i S<C<Cs<Al

, C<S<Al<Cs

5 C<S<Cs<Al

S<C<Al<Gs
4,

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
C, Cs, Al T8 S & WHIUEE F==13 &1 9&t
FAFAE

Options:
; S<C<Cs<Al

. C<S<AI<Gs

; C<5<Cs<Al

. S<C<Al<GCs

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

C, Cs, Al 244 S <l uzifosy Bsail 2zl 54
2ULEL?

Options:

; S<C<Cs<Al

, C<S<Al<Cs

z C<5<Gs<Al

S<C<Al<Gs
4,

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes SingleLil
No Option Orientation : Vertical .
% collegedunia:

Correct Marks: 4 Wrong Marks: 1



Match the ores (column A) with the metals
(column B) :

(Column A) (Column B)
Ores Metals
(I) Siderite (a) Zinc
(II) Kaolinite (b) Copper
(III) Malachite (c) Iron
(IV) Calamine (d) Aluminium
Options:

1 (@ - (@) ) - (b); (1) - (c); (IV) - (d)
2. (D) - (c); (IT) - (d); (ITI) - (b); (IV) - (a)
3z (D)= (b); (1) - (c); (1) - (d); (IV) - ()

4 (- () () - (d); () - (a); (IV) - (b)

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
] (FHTH A) I 9 (FTeH B) F

=1 HI HITI
(AT A ) (FTEEB )
ITTTF T
( faswee (2) To=
(I)  =F=ferEe (b) W
(I) HerFmse (€) =mA
(IV) e (d) EgHiTE
Options:

1 (@ - (a); (1) - (b); (1) - (c); (IV) - (d)
2. () - (c); (IT) - (d); (ITI) - (b); (IV) - (a)
g () - (b); (1) - (c); (1) - (d); (IV) - (a)

4 =) () - (d); (HI) - @@); (IV) - (b)

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
Qcollegedunias



FAM A UL 2L 28] A 2der B |l 2udl
Bl #2412y 2l sdsl

(wd A) (2ot B)
WS Ml
1) e @) [is
(I siGlase (b) 54
(IT) Hd=ude (C)  =uHA
(IV) seHE (d) =leyBilau
Options:

(@ - (a); (1) - (b); (1) - (c); (IV) - (d)
2. (1) - (c); (IT) - (d); (ITI) - (b); (IV) - (a)
3z ()= (b); (1) - (c); (1) - (d); (IV) - (a)

4 - () () - (d); (HI) - @@); (IV) - (b)

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

NaH U 3510 T
Options:
i YT TESEE &

Eaﬁaaﬁaﬁamaﬁ ED|

g, T9 BIRgIeS i

, - s

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
NaH 2l 5l Gewzel 67
Options:

| el eByss

5 Ul adgss

.
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N Belsglr AU EIBgIDs

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

NaH is an example of :

Options:

1 metallic hydride

2

molecular hydride

=z saline hydride

electron-rich hydride

4.

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The correct statements among (a) to (d)
regarding H, as a fuel are:

(@)
(b)

(d)

Options:

It produces less pollutants than
petrol.

A cylinder of compressed
dihydrogen weighs ~30 times more
than a petrol tank producing the same
amount of energy.

Dihydrogen is stored in tanks of
metal alloys like NaNis.

On combustion, values of energy
released per gram of liquid
dihydrogen and LPG are 50 and
142 k], respectively.

, (@) and (c) only

, ®), (c) and (d) only

z (b) and (d) only

4.

(a), (b) and (c) only

.
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Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

S99 ®9H H, F AL, (a) H (d) F | =

EXE
(a) =& U2/ I 79T FH FSUHI F FA
¥l

(b) =H HEN F FeA I9A FA F fog TH
YA EF FI q@l § UH duifeq
EEREEeA &l fafame ~30 T Afaw
AR B

(c) =TERIEESA = NaNi &l & & g
T % 2% § T o 2

(d) = ¥ 394, 9fq e sfad egeneeT
q41 LPG ¥ 3edfad el o "M HH9:
50 7T 142 K] E1

Options:

] (a) T4 (c) AIH

, (b), () 7 (d) =T

o (b) 0 (d) =T

’ (a), (b) @1 (c) HH

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

H, "2 215 “ndel a5 I 2uta [l 450

(a) &l (d) Usl s [Feu-l == )

(a) U2ld sRel 2L ugust U8 52 .

(b)  HsiRid sieB sl Al 215 euzdl 4zia-l
215 52ell oyl ~30 21B1 YUR 14 S o7
wull sre2lidl b Gout 53 8.

(0)  slidglsed NaNis soell B agHl
2151l Hug sl 2ud .

(d) & sl Mol siBuERisv il LPG
Ul U 24454 50 2 142 K] 20lsct ysct

Sy

5 B
Options: Qcollegedumas



s5cl (a) 2 (c)
o 51 (b), () i (d)
55t (b) @i (d)

55 (a), (b) 2 (c)

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The amphoteric hydroxide is :
Options:

. Be(OH),

o NIB{DH}E

. Ca(OH),

, St(OH)

2

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
T TEETHGE €

Options:
, Be(OH),

> h{g{DH}Z

. Ca(OH),

, Sr(OH)

2

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Gleepell eigisues e ?
Options:

. Be(OH),

.
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o NIB{DH}E

. Ca(OH),

2

, St(OH)

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The chloride that CANNOT get hy drolysed
is :

Options:

, €cl

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

FirEe foad oia-s99eT T8 & gl
WY
Options:

, €cl

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A2 2td sl sdl sdlEs senldeise wHl
315l 217

Options:

, €l

.
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Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The element that usually does NOT show
variable oxidation states is :

Options:
1 Sc

5 Cua

. Ti

4 V

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
HE Y H qEa-1g S 37951 T8
yefeia = 9 a9 ©

Options:
1 Sc

5 Cua

Ti

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
drel s HEREL 3d 2uldd 2B 2
galletcdl 2l o 2uel?

Options:
1 Sc

5 Cu )
; Qcollegedunlag



Ti

4 V

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Match the metals (column 1) with the
coordination compound(s)/enzyme(s)
(column 11) :

(column I} (column 1)

Metals Coordination
compound(s)/enzyme(s)
(A) Co (i) Wilkinson catalyst
(B) Zn (i) Chlorophyll
(C) Rh (i) VitaminBy,
(D) Mg (iv) Carbonic anhydrase
Options:

1 (A)-Gi); (B)-(1); (C)-(iv); (D)-(iii)
o (A)-(iv); (B)-(iii); (O)-(1); (D)-(ii)
3, (A)-(1); (B)-(i1); (C)-(iii); (D)-(iv)

4 (A (B)-(iv); (O)-(1); (D)-(ii)

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

qgeli (FTAR 1) 1 STHeHISE FiiTHi/

U=aTsH (SRTeTd 11) & |1 gHfod Hited
(H/TAd 1) (HTAF 1L )
(A) Co (i) Tafesas 3o
(B) Zn (i) FARIEA

(C) Rh (i) fFarfEE B,
(D) Mg (iv) FTEiH TeEed
Options:

p (A=) (B)-(1); (CO)-(iv); (D)-(iii)

o (A)-(v); (B)-(iii); (O)-(1); (D)-(i1) Q ,
% collegedunia



3, (A)-(1); (B)-(i1); (C)-(iii); (D)-(iv)

4 (@A) (B)-(iv); (O)-(1); (D)-(ii)

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

woie T i 2udl eugadid wde T A 20dal
dlber wdler (L) /Getaus(51) A sasl.

(2d™ 1) (2 11)
Bl 50 didler (L) / Geus( 51)
(A) Co (i) [El Gelus
(B) Zn (i) sHiba
(C) Rh (iii) [Hel¥4 By,
(D) Mg (iv) stellls 2esid
Options:

1 (A)-(); (B)-(1); (C)-(iv); (D)-(iii)
o (A)-(v); (B)-(iii); (O)-(1); (D)-(ii)
3 (A)-0); (B)-(i1); (CO)-(iii); (D)-(iv)

4 (A)-(ii); (B)-(iv); (O)-(1); (D)-(ii)

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

The concentration of dissolved oxygen
(DO) in cold water can go upto :

Options:
. 8ppm
5 10 ppm

2 14 ppm

16 ppm

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1



32 9 H Jiea Afeded (DO) & TRl i
Options:
1. 8ppm

5 10 ppm

= 14 ppm

16 m
4. PP

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

gst ellul 2lbudal »ilsus- (DO) HigsL
s Hell o8 2tk d 20Al?

Options:

1. 8ppm

5 10 ppm

- 14 ppm

16 m
4. PP

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Peroxyacetyl nitrate (PAN), an eye irritant
is produced by :

Options:
1 acid rain

o organic waslte

- photochemical smog

classical smog

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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WEHEERS 522 (PAN), TF 99 3090,
frafafas & 4 fFag s am g7

Options:

| o =

Eaﬂarrﬁrmaatrﬁmr

= TPE

=T yHF=
4

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Yzl Baeialeigd gz (PAN)EL »iivi
ozl WM 8 o Al 2l s iRl oA 897
Options:

| 9B e
o Sl 52

5 Wbl ga-grau

4 WRulzs (classical) 4H-4*

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A 10 mg effervescent tablet containing

sodium bicarbonate and oxalic acid releases
0.25 mlof CO, atT=298.15Kand p=1bar.
[f molar volume of CO, is 25.0 L under such
condition, what is the percentage of sodium
bicarbonate in each tablet ?

[ Molar mass of NaHCO, =84 g mol 4
Options:
1 B84

> 0.84

. 168

.
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Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Hifegw AgFEHe a1 SR o776 T5 TH
10 mg 1 F298H 9en 2902 T=298.15 K
A p =1 bar T 0.25ml CO, IFA(TA FIA 7 |
U g9 H, g CO, 1 Hiel 9ad 25.0 L 7,
Al Y Zacie § Hifedq e &
wfaerd 7 (NaHCO, %1 HieR F=99H =
84 g mol 1y
Options:

1 B84

> (.84

. 168

. 336

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

298.15 K clMHid 24 T w2 (bar) sedel, Hllbm
wrisieliz 2 2Aiszdls 238 4uadl 10 mg
Al Gozl 2aruedl 209l 0.25 m1 CO, A Yot 53 .
ol CO, | 442 55 25.0 L el ol =0 B2uldui
g5 2llolli 54 sieli-eL 25t 2ul?
(NaHCO, 4 4R £1 =84 g mol ! )
Options:

1 B84

= (.84

. 168

. 336

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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A solid having density of 9 10° kg m 3
forms face centred cubic crystals of edge

length.z{]{]ﬁ pm. What is the molar mass
of the solid ?

[Avogadro constant =6 > 102 mol ~ !, 7 = 3]
Options:
1. 0.0432 kg mol !
> 04320 kg mol !
5 0.0216 kg mol !

4 0.0305 kg mol L

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

T 3, e 9= 9 < 103 kg m 3 &, Felh
e T e e € formes =R &1 o
20042 pm 1 3E F1 HER FHEE T 3?2
[FarmET FEaE = 6 % 102 mol 1, 7 = 3]

Options:
1 0.0432 ke mol !

5 0.4320kg mol !
5 0.0216 kg mol !

4 0.0305kg mol !

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

ws G oAl Gdl 9x10° kg m 3 ©, d
20042 pm 4R detd gRAdl $45 Sedld s
25005 o B, 2 U HeR g0 52 )
[#ALEL 21ls = 6% 102 mol 1, 7 = 3]

Options:
1 0.0432 ke mol !

> 04320 kg mol !

.
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3 0.0216 kg mol !

4 0.0305 kg mol !

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Heat treatment of muscular pain involves
radiation of wavelength of about 900 nm.
Which spectral line of H-atom is suitable
for this purpose ?

[Ry=1x10° ecm~!, h=6.6 x10"# Js,
c=3x108 ms—1]

Options:

Lyman, = -»1

> Balmer, = »2

2 Paschen, 533

4 Paschen, =33

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

TEIYTg 22 F S SUEN F AU S
900 nm F T F fafero 1 3w e
¥ | T felu H-90a19] &1 Il S ae
SYYH 7

[Ry=1x10° cm~!, h=6.6 x10 34 Js,
c=3x108 ms—1]

Options:

Fﬂﬁﬂ,x »1

Question Number : 53 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes SingleLil Qcollegedunias
No Option Orientation : Vertical BP s o Sent R Pt



Correct Marks: 4 WrongMarks: 1

2ytiAl lol oraflell adl wiraryl @vee
900 nm dzadeud-dl Brel auri o.
H-uzsigpdl 59 celudla vl 200 dq W2 4o
657

[Ry;=1x 10° cm 1, h=6.6 x10 ¥ Js,
c=3x108 ms 1]

Options:

1 EEHA, = 1

o PR, © 2
5 WA, 553

4 YA, =3

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

THEEE AfafEa x -y F fau, "9
AR firsg == a9 (K §) T fF=afafaa

A,G® (in k] mol ™) =120 T

oo | w

AT foago =1 geg g92F T W e
Options:

] X Afg T=350K

5 Y Ifg T=300 K

- X g T=315K

4 Y Ifs T=280 K

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

.
Qcollegedunlag
aaaaa 's largest Student Review Platform



wudl 2k wb v — vy we, bk
ulbal Bl sl drmA T (K 4wz -l
Horol AAIRA 9,

_ .
AG® (inkJmol 1) =120 2 T

dl T et Wi el Yo ues 5417
Options:

; XsaT=350K
o YA T=300K

5 X sd T=315K

4 YA T=280K

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

For the chemical reaction X — Y, the

standard reaction Gibbs energy depends on
temperature T (in K) as

~ 3
AG® (ink] mol ') =120 ;1

The major component of the reaction
mixture at T is:

Options:

1 XiT=30K

> Yif T=300K
5 Xif T=315K

y Yif T=280K

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Two blocks of the same metal having same
mass and at temperature T, and T,,
respectively, are brought in contact with
each other and allowed to attain thermal
equilibrium at constant pressure. The
change in entropy, AS, for this process is :

.
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Options:

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

T B M = T Hefd = <1 S e
A T, 99 T, T TR UF g9 & I H
A T 99 T gE W g 9 9
¥ e T 53 9 o, = ufiE|dd AS

g

Options:

2. In [M
P 4TyT,

%,

' 2
cyo[237]

4T Ty
2.
T +Ty
P 2Ty Ty
>,
1
e 1 | 1+ )2
P T]T_",l
4.

.
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Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Al AL ML BN 1AL A 255121l (edls)
A 2egsd T 24 T, 8, i 245 ol
A5l AL U B el 2 sl Gy
Hda Ul 3l B 2ud © v Wiee
szl AS ML adl 5351r .

Options:

2c, i B2)
P 4TyT5

%,

2
P 4Ty T

P 2Ty Ty

3.

P | =

P TyT,

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The freezing point of a diluted milk sample
is found tobe —0.2°C, while it should have
been —0.5°C for pure milk. How much
water has been added to pure milk to make
the diluted sample ?

Options:
1 1cup of water to 2 cups of pure milk

2cupsof water to 3cups of pure milk

= 3cupsof water to 2cups of pure milk

i 1 cup of water to 3 cups of pure milk

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Lil gcollegeduniag
No Option Orientation : Verticd T S targestSudont Rviow latior m



Correct Marks: 4 WrongMarks: 1

TF TFG 379 yiaew #1 feHiE - 0.2°C
T, S fAvs g9 # e - 0.5°C g
MY | FFd g7 Widqsy =l 9 & fore fa9rs
T ¥ faa siet foemar w7 &2

Options:

| 2FI s e A 1 Y 5

3 Y fo9s g9 ° 2 %9 9

5 27 s g 3 %9 5w

. 3 %Y fagrs g9 H 1 F9 9

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

HE 53l 25 UL Al 81 (G5 — 0.2°C wigy
Wil 8, sl 9458 EU M d —0.5°C ¢ld addd
o UL GEAL HE YAl Gl HE AL s2q)
well G ed 7

Options:

L2 e g 1 vl well-

5 3 L A gl 2 vl wellL
o 2 L Ye gand 3 el el

, 3l Y g 1 vyl Wil

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Consider the reaction

No(g) +3H,(g) — 2NHs(g)

The equilibrium constant of the above
reaction is K_. If pure ammonia is left to
dissociate, the partial pressure of ammonia
at equilibrium is given by (Assume that

Py L, << Piotal at equilibrium)

.
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P
1 16
‘;x:}[{: 1’: P<
P
4
2.
oo 18 an
L‘F' I
) 4
A a2 p2
"l“‘p 2
16
4.

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Frefafaa st w faEr Fife

N(g) +3H,(g) — 2NH;(g)

Iw Aflman 1 A feri® K, 21 9fe
[T T ST 1 S 9

(9 =i mmwnﬁpm,f-: Pgegt)

Options:

1 2

i
=3
1

.
Qcollegedunlag
India’s largest Student Review Platform



Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Azl Wl el Al
Na(g) +3Hy(g) — 2NH,(g)
Gludl ulrl vigadt 2als K9, o 34
2l [Betlsrt We sisaml 2ud dl digad
Ll AiRls senst s2q 7

(%gart Papy, << p,, *i9 “4i&l)

Options:

1/ .

e
I
—

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

For the cell Zn(s)|Zn?* (ag)|M* * (aq)|M(s),
different half cells and their standard
electrode potentials are given below :

M*" (aq)/M(s) Au’" (aq)/ |Ag " (aq)/ Fe"" (aq)/ [Fe* (aq)/
i Au(s) Agls) | Fe' (ag) | Fels)
E:.[ﬂ'r-'- f\ltf{‘l.'r‘] 1.4L| D-S'ﬂ 0.77 —ih 44

IfE 24 [ Zn = 0.76 V, which cathode will
give a maximum value of E°_;, per electron
transferred ?

Options:
1 Au*t /Au
> Ag'/Ag

.
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o Fed+/Fe2+

Fe’* /Fe

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
qdA Zn(s)|Zn2* (aq)|M* * (aq) M(s) & feQ
fafym @15 -0a 991 39+ 9A« soEeE favg

TafeamE
A4+ f IU;L-I 2.
M** (aq)/ M(s) Mr-. (ag)/|Ag' (ag)/|F E_Iiﬂqu Fe2* (ag)/
u(s) Ag(s) | Fe "{aq) | Fe(s)
Ev ™ ] 140 0.80 077 A
In.a[‘in**,n"in 0.76 V, ﬁfgﬁﬂﬁ!ﬂ?’ﬁ[
TR o feTq iR § FATS FE? ), FATE
B
Options:
. Au3*/Au
> Ag'/Ag

5 Fed+/Fe2+

Fe2* /Fe

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
244d 514 Zn(s)| Zn2* (aq)|[M* * (ag)[M(s) i
61—/ EL AELSTHL i AL MBI Yo Wiz

Al Yo 09,
ER + P 2
M (aq)/M() Au' (ag)/ |Ag " (aq)/ roll(aqu Fe {a;ﬂf
Auis) Agls) | Fe ' {ag) | Fe(s)
A 0.80 0.77 —0.44
AE 724 70=—0.76 V d oll, 5 585 Ul
JAlH 525R R B, - HerH 4o MUl
Options:
y Auv?t /Au

Qcollegedunla
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> Agt/Ag
5 Fed+/Fe2

Fe?* /Fe

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

[f a reaction follows the Arrhenius
. 7 .

equation, the plot Ink vs /(RT) gives

straight ine with a gradient ( — y) unit. The
energy required to activate the reactant is :

Options:
1 YR unit

5 yu_nit

yunit

1/ R unit
4,

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Afe ek AR SRfHeTE HHT i ST
FA G, T Ink vs ), 9 T (1)
AT % W1 U "G | e B AT
Options:

yR AEH

1
, yHEE

y AT

, WRTAE

.
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Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

ot w15 UL 2L eilsrei pquadl el
dl Ink Baea Y Al 2udu el 2 o,
sl gLOL (— ) s el Wbus Ul s szl
215t Sedl 7

Options:

1 YR wisy

> ¥ u5H

B

4 WR s

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
An example of solid sol is :

Options:
1 Gem stones

5 Paint

z Butter

4 Hair cream

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
21wt T U 32 B 7

Options:
1. 9 =2H

= IS

AL I

. Qcollegeduniag



Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

a4 Hla- Geuerel

Options:

] Yo 2l

=11

3. WS

e vzl By

Section Id :

Section Number :

Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:
Display Number Panel:
Group All Questions:

Sub-Section Number:

Sub-Section | d:

Question Shuffling Allowed :

Mathermatics

416529132
3

Online
Mandatory
30

30

120

Yes

No

1
416529141
Yes

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let f: R»>R be defined by f(x)

x € R. Then the range of fis:

Options:
n-|
1
g Bl
1,1
g A )

.
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P | =
B | =
| e |

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

'HFHf:R>Rr-f(x]: Y, xeREAURAT

-

1+x°
Toom T 2, £ U T
Options:

R { 1 1}
2 2
1. ' -
. R-[-11]
. (~1LD-{0)

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A . h X . 5
sl f: R-R f{x]:“xz,l e R glil

ey fuaql(Get [FE € Al £ AL [BRar
8.
Options:

.
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Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If one real root of the quadratic equation
81x2+ kx + 256 =0 is cube of the other root,
then a value of k is :

Options:
1. —300

> 100

2 14

4. 81

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Afg fg=m T 81x2 + kx + 256 =0 1 UF
e gHI e 1 99 (cube) F, 1 k F TH 9
C

Options:
1 —300

5 100

- 144

4. 81

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

s [geuct w{lszel 81x2 +ka+256=0 - s
cictlels olor oflod ollor-l unt sred @i, dl k -l

Options:
1. —300

> 100

144

.
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Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Lt[ 2 li\]' .. % I
e “—3 =5 (i= /—1). where

x and y are real numbers, then y—=x
equals :

Options:

1 91

> 85

3 a1

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e

o (-2 L) o2 o,

3) 27
x T y RS S €, Ay —x AT
Options:
1. 9
2. 85
85
4

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

3
- 1.y xhy . : ~
Ert[ 2 ?J =" (1= =1 ) sl x 2

y o dwdlds el gly, dloyox

Options:
1. 9 Qcollegeduniag



> 85

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let A=|p q r|, If AAT = I5, then

Pl is:

Options:

=

L
Gl

2
Jo

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

1] Eq )

qM A= p q -r| FRAAT =1, @
P q r)

Plamer 2 :

Options:

=

.
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Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Q. P4 »

s A=|p q 1| 8. st AAT =1,
F 4

gl Pl =

Options:

I C

Sl=

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
[f the system of linear equations

2x+2y+3z=a

3x—y+5z=Db

x—3y+2z=c

where a, b, ¢ are non-zero real numbers, has
more than one solution, then :

Options:
b+c—a=0 .
1, W collegedunia:



4 atb+c=0

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Afg g THw fEm

2x+2y+3z=a

3x—y+5z=b

x—3y+2z=c

@ a, b, ¢ A AEATEE GEAE €, F UF d
Options:

i b+c—a=0

5 b—c+a=0

b-c—a=0

4 atb+c=0

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

sl Y2 vt a{lse el

2x+2y+3z=a

3x—y+5z=b

x—-3y+2z=c

sedl a, b, ¢ Yeiddz dalds vyl 9, A 2is
ol oy Get @l dl :

Options:

1. b+c—a=0

5 b—c+a=0

.
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Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The sum of the real values of x [or which
the middle term in the binomial expansion

5 8
2 3 |
of 3 '; equals 5670 is :
Options:
1. 0
5. 4
= 6
4. 8

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

(3 3*5

x%mmﬁmmﬁfﬁ?ﬁ%m{% 3=
| < x)

598 WER =1 954 95 5670 €, FAM T :

Options:

1. 0

*

> 4

oo

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

' 3 1
r .5 _

i ;‘ AL [gusl [CacRerl Heuyue vaer
= J

5670 2 ddl ¥ Al didles Budidl szt
8

Options:
1. 0

.
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Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
a
Letay, a,, .., a;gbeaG.P. If 2= 25, then
2 ay
a
iequaIﬂ:
a5
Options:

;259

> 4(5%)
5

54

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

AM a,, ay, ..., ay, UF TUIR 921 &1 4

a3 > g

3 =25 L et
dy ds
Options:
. 25%)
> 4(5%)
3
5 9
4
4 2

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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qrls a,, a, .., 2y 2 Wl 48l (G.P.)

- = ds = a
8. ] 2 =25 g, d 2=
Options:

. 25%)

2 4(5%)

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

The sum of an infinite geometric series with
positive terms is 3 and the sum of the cubes
-

of its terms is ;—9 Then the common ratio

of this series is :

Options:
4

1. 9

Ok

o[k}
GO | b

WM

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

o Y] I UF A UL A AR 3 E

. o W
Hmsﬂaﬁa%ﬁﬂm{cums)wmﬁ ,
=4 07 =1 H1E FIE #

Options:
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Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
sl Ut EWYIL 245 2irid 2312)00nR AdlHL el
3 2 el YELHL SAIHAL MR ﬁ Gy, dl =il
Bl A 2ele 8.
Options:
4

1. 9

oK

9]
0O | bt

W(|N

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
of r for which

The value
Eﬂc J_'l'.IC | Eﬂ(_‘r 121}{:1 | H}Cr aiﬂcq |
L 20 200 .
(] T
is maximum, is:

Options:
1 11
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Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
r &l dg HI, fsas feu
lﬂcr,)zﬂ{:ﬂ’l[l Eﬂcr p ?_DC[ | 2{}Er " Eﬂ{:‘?_ |
FC N,
Options:
1 11

> 15

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
r Al 58 B we
EI[],—CT Eﬂ{:‘ﬂ | Eﬂ{:r IH}CE 1 lﬂ{:r
F20C, 2C, Hery )
Options:
1 11

|
5 29C;

15

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Let [x] denote the greatest integer less than
orequal to x. Then:

tan(m sin” x)4 ”1| -‘*'i“[x[x])]z ‘

lim

x—0 2

Options:

L equals

> equals 0
= equals 7 +1

does not exist

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

HA [x], x F T9E 91 39 FH HeaqH U F
29I &,

) ; 2
tan({s sin” xH (|1| r»;in[x[x])) ‘
2

lim
x— 1

Options:

; T F TEL e

N 0% =T 2

o wHIFATE T

43?131?@@'?%7%

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
o [xx] 24 x &l AAletl RS x A A I YelsE
izl W2l yels gaid dl

tan( sin” x)+ (|1| SN [1[1]))2 ;

lim
x—) xz

Options:
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o GRGE 0 8.

:l 5 iz g 4
= UM Tm+1 ©.

4 et el

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Rl xlog, (log, x) x> 4 yj =4(y>0), G|

.dt
et oL
dx
Options:
.[26 1)
Eﬂélfz
1.
G
o 4+~
(1+2e)
2 afd 4ol
5 2 d+¢
(14 2¢)
[4+4¢2
4 i ¢

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

od log, (log,x) x> +y* =4(y>0) €, ol

di
IT=¢e =PI o S = e
dx
Options:
(2e-1)

Eﬂélfz
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I:].|2t"}
5 afd 4ot
5 2 d+¢
(142¢)
*q‘l-—iifz

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If xlog, (log, x)—x?+1* =4 (y > 0), then

L S 1t
— atx=¢is equal to :
x £ 4
Options:

.[26 1)

24Jd+e?
1.

<
o "'.l'ille_’-‘z

(1+2e)

2 afd 4ol
5 2 d+¢

(142¢)

[4+4¢2
4

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

2=<x<0
and

e
Eebiey- E_rz 1, O<x <2
.g(:r}= |f{x}| | JI"[|A|) Then, in the interval
(—2,2),gis:

Options:
1 not continuous
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5 not differentiable at one point

5 not differentiable at two points

. differentiable at all points

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

| 2< ¥ <()
b i L—E 1, Oekgg
0= [f@F(R]), B st (~2,2)F g
Options:
. T T8 &

T fag T st T

., B sl W sEwer T E

, oot fagail W sEser B

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
. 1, -2<x<0
YR f(x)= 4 5 Vi
-1, 0= x =< 2

g(x)= |f(x)[+f([x]) . b 21 (-2,2) 4
g
Options:
;e A%,

o 2 (g e Fsarily el

5 o (gl 2w Fsadld el

, ety (gl 2 [Esadly 8,
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Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The maximum value of the function
f(x)=3x"—18x2+27x~ 40 on the set

S = freR:x? +30 < 11x} s

Options:
1. 122
5 —122
3 222
4 =222

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

qq=g 5= {xueh‘.:x2 | ?rﬂi:l'ix} T FeAd

flx) =3x% — 18x2 + 27x — 40 1 HAf=FTH AH
| £

Options:
1. 122
5 122
5 222
4 =222

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

gL S= {XER!L‘{'E I3L]£11x} vz [q4y

fix) =323~ 1822+ 27x — 40 Al e Eud
8.

Options:
{122

122
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Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

| \.|'Il IE —>m )
If —J‘:fx=ﬁ{xj(\.l'l x‘w +C
X \ A

for a suitable chosen integer m and a
function A(x), where C is a constant of
integration, then (A(x))™ equals :

Options:
1
9y4
1.
1
3
5 3x
1
27x°
=,
1
i
7
i x

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Hqgaawi'a?m T U e A(x) & fau afg
j ﬂ'1 =A(x) (\.l' vn

el C U HHIHEE = S, 1 (A(x))™ =

T

Options:

9y4
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3
5 3x
1
27x°
Z
1
(5
¥
i XTx

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
iy 2l yHE 53 Yels m i (e A(x) we

&“A.jw’l xs
-

r—_j'-.l]!!
:i’x=.'—*'a{x_][\."1 x| +C»

l

sedl C »l Hsdddl 2™Nls ¢ly, l

(Alx))ym= e
Options:
1
9y
1.
=
3
5 3x
1
PT P
5 27X
1
5 6
g ZF

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

-

F=

sin” x e
The value of the integral [ x} 1 &
L b —

-2 2

(13

(where [x] denotes the greatest integer less
than or equal tox ) is : Qcollegeduniag



Options:

| 4-sin4

sin 4

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

si_nzx dx
S EE
—2| 77 2
(W@ [x], x F 99E 91 394 FH T20H UiF
=T <A1 E) FAM @ :
Options:
, 4-sin4
5 0
s 4
sin 4
4,

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
2
;. 2
sin X

slda ax g fuq o

I
(E=]
BT
g =
SRR
B3 | =

(odl [x] =4 x 2l Al 2@el v A H{Hi
yelsiui A2l Wizl yels suld 8.)
Options:

, 4-sin4
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Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The area (insq.units) of the region bounded
by the curve x2 =4y and the straight line
x=4y—2is:
Options:
3

1, 4

@

W= |

0|~

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
ek 12=4y TH WA W x =4y -2 g R
3 1 AR (3 s H) ¥
Options:
3

1, 4

w|e

e | L

0|~
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Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
45 x2 =4y 2l Uil x =4y — 2 945 gt e
dotgo (L wswul) B,
Options:
3

1 4

W

e |

oo~

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If y(x) is the solution of the differential

dy 2x +1
equatinn E ‘T

¥

}J; =g, x %0

x
1 9
where (1) = € then :
Optic_ms:
log 2
y {}DBL’ 2)= %
1.

, ¥ (og, 2)=log, 4

5 y(x) is decreasing in (0, 1)

X

-
y(x) is decreasing in ' 5’ 1

i

4.

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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Tfe AAgFe THHI
ﬂ I [21 F1
dx

= Jlf' =f_11f x> Uﬁﬂ%"ﬁy{x}

ok i

& W y()= e,
Options:

| log, 2

2)=
y (log, 2) =

5 y (log, 2) =log, 4

2 (0,1) ¥ y(x) B=HH 2

{% l\| H y(x) T B
4

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

s y(x) 21 [Sse Wilsel

4 [?"T | 'IJH =2 %50 4 g

dx x
5 2 1 5
sl sedl y(1) = e ol )
Optjons:
log, 2
y (log, 2) = —8£=
1 4

> .J[l" (log, 2) =log, 4

5 Y #(0,1) i ueq (494 ©.

o1 s N
y(x) m{[;- IJ Ul gzd [Q8y .
4 X

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Two circles with equal radii are intersecting
at the points (0, 1) and (0, — 1). The tangent
at the point (0, 1) to one of the circles passes
through the centre of the other circle. Then
the distance between the centres of these
circles is :

Options:

242

1.

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
=R B & 91 g4, fagsi (0, 1) a9
(0, —1) W F2d €1 379 U UF 99 & fag
(0, 1) W% B9 1 L g7 % 5 H 2T ol
B AT I FFR FAE AT

Options:

2.2

1.

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Hul Blsedt s A aduil wiseilsad (0, 1) 2
(0, — 1) [Cigil 201 92 . 213l 245 dquil
(5 (0, 1) =u2w Al 2uals, o{lsa el S 4zl
YR A . ol Bl st sl deRld wide
8.
Optilons:

242

1. ;
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3 2
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4. V2

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The straight line x+ 2y =1 meets the
coordinate axes at A and B. A circle is
drawn through A, B and the origin. Then
the sum of perpendicular distances from A
and B on the tangent to the circle at the

origin is :
Opti_ons:
, 4B
V5
> 2
-?
3. 245
5
]
4 2

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A @l x + 2y =1 a9 A4 H1 A 791 B
T Fd 1 ¥ fag, A 991 B ¥ 29 9
el g9 i TR, @ qa fag W ga &+
B9 TE 1 A 991 B H eFEag i F7 am

~

:
Options:

445

1.

[t
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. 25
5
2

4.

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

il x +2y=1 2 WAHLElA A 21 B (G521 vl
5. A, B 2 Golog wigl 215 adn £k .
dl A 24 B 2l 24 aduird Gorleigat eRe 2ugis-i
Aot BARIAL el 8.

Options:

45

1.
5
> 4
s 2.5
5
2

4,

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

A square is inscribed in the circle
x2+y?—6x+8y—103=0 with its sides
parallel to the coordinate axes. Then the
distance of the vertex of this square which
is nearest to the origin is :

Options:

i 6

Al

2 13

4 137
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Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Tewn @4l & o e w1 UE 99, 99
x2 }];3 6x+ 8y —103=0 + Gfﬁﬁ?l?':ﬂ S| et
=7 1 =8 91 51 g a5 F Had e 8, F
Fhe:

Options:

1 6

Vi

Al

2 13

4 137

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

o il Cllsrll UIEA iR Sl ddll w15 2k,
A 22 + 2 — 6x + By — 103 =0 Hi 2idold .
dll Gorlcig el 21 2uzuAL Hiell Asos-u Biilig
B3 8.

Options:

3. ©

Vi

Al

2 13

4 137

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Wy2=4x a9l Afqgad xy=2 Wnl Uk

TS TI91 Tl 1 THE R
Options:
1 x—2y+4=0

.
Qcollegedunlag
India’s largest Student Review Platform



x+y+1=0

2.
z & +2y+1=0
4 X F2y +4=0

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

YreEy P2=4x 2 wildady ay=2 Al s

Al 2uglsd wedlsael | e,
Options:

;X 2y+4=0

5 Xty 1=0

5 4 t2y+1=0

4 X1 2y +4=0

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Equation of a common tangent to the
parabola 1;1=r_1¢' and the hyperbola xy=2

is :
Options:

X 2y +4=0
> x+y+1=0
z & +2y+1=0
i x+2y+4=0

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If tangents are drawn to the ellipse

x2+ 2> =2 at all points on the ellipse other

than its four vertices then the mid points

of the tangents intercepted between the

coordinate axes lie on the curve : Qco”egeduniag



Options:

1 4 1 _ 1

Dx2 4y2
1.

1 1
—2{ _,=i
4 2

2y * 4
2 4
=,

2 12

g o © D

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Ffe 2reige 12+ 297 =2 % 91 il & HAfdf=m
T [T faged W o9yl v i T g

F g fag = 8 4 fag 9 w22
Options:
L
2x%  4y?
1 ‘
1 1
—2{ 5 :i
4 2y~
> /
2 4
3.
7.
4 4 2

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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od Glusad x2+ 27 =2 -l Uz [RlGgl
(el i g =il a0 2ueisl 2lrami 2ud
Al 24l 2u2lsiAl dsEl g2 »idEd oL

weogadl 45 W 29d B,
Options:
L
Dx2 4};2
1.
1 1
—2 | o = i
4 2
2 * Y
2 4
s
2 1 2
4 4 2

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The direction ratios of normal to the plane
through the points (0, —1, 0) and (0, 0, 1)

and making an angle g with the plane

y—z+5=0are:
Options:

VE.-I., 1
1.

205 1=1
= —=Ld

.2, \.."E, \"E
4

Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options are chosen.

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 .
% collegedunia:



gt (0, — 1,0) T4 (0,0, 1) I B I a1

13
4l JHadA y -z +5=0 & HY 7S I I
T 9l THAA o Aferm o fow o
(direction ratios) g
Options:

\.I'E.. 1, -1
1.

2/3.1 -1

2
x 90=14

2, 2,2
4

Note: For this question, ambiguity isfound in question/answer . Candidate will get full marksfor thisquestion if any of the correct
options ar e chosen.

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
(G524 (0, —1,0) 24 (0,0, 1) izl Y4 2

- & A = =
Ay — 2+ 5=0 = - Al Rl eretel

ol lMdo By oelazl 8.
Options:
V2,1, -1
1.

2
= 2-14

2, V2, -2
4

Note: For this question, ambiguity isfound in question/answer. Candidate will get full marksfor this question if any of the correct
options ar e chosen.

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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The plane containing the line
x a el el
I -
containing its projection on the plane
2x +3y— z=5, contains which one of the

following points ?

and also

Options:
; 0, -2,2

> (2.0,-2)

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
=3 g cz—1

2 1 3
STATE & 91 59 T o JHael 2x + 3y — 2= 5
T HET (projection) +ff srafae & W |
T FF 1 fag feoa 272
Options:
1. 0, -2,2)

, (2.0,-2)

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
X—3 _ g+ 2 z—1

2 1 3
dHer HHAA 2r + 3y~ z=5 Uzl -l UEUA

Wiad, Hudd, 21 -l sl 5 B wua 97

Options:
Qcollegedunlag
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Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
.—p A A M .—p A
Let a=i+2j+4k, b=i+rj+4k and
.—'P A A, 2
c=2i+4] HA 1_} k be coplanar
S
vectors. Then the non-zero veclor g x ¢

15 :

Options:

s e

10i 5]
14i-5]
et Fa
100 15]
Fat M
14i45]

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

—F Fat A M .—'l- a2t A A
WA a=i+2j+4k, b=ithj+dk qel
c=2i+4j+(\2-1) k THaea giew &, @

i

- [ el _} _}
AR HGT 3 x ¢ &
Options:
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M e

10i-5]
1 ! J
14i-5]

2
A Fa
10 +5]

3
A A
14i+5]

4

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

— A, A LY

‘d  a=it2jt4k, b=itrjtrdk=

c=2i+4j+(x2 1) k = wuadly ukl

—

1, ol YR 1EL 2 % ¢ =

Options:
10i 5]
14i-5j
2.
ot Fa
10i45]
>
Fa e
14745
4,

Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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The outcome of each of 30 items was
observed ; 10 items gave an oulcome

d each, 10 items gave oulcome

|x.J|r--L. ba | =

each and the remaining 10 items gave

1
outcome E t d each. If the variance of this

4
oulcome data is ; then d| equals :

Options:

1 V2

2. 2
5

2 2
2

4. 3

Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
30 #WE2H (items) 1 TEOMH <& 741 576 o

10 Eﬁmﬁﬂﬁﬁiﬁqﬁ'ﬂﬂﬁ% d feam,
lnmﬁm%qﬁm% fe=n qen =t
3 1
10 252 f{ﬁ%ﬁﬁqﬁwm; b d fean) ofg
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Options:

1 V2
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Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
30 sl Hizll ucts AL wkeus o w@dlsH

s2dl; 10 gl Meds Reuy d

b3 | =

e I 3
10 @il uedse ubkens = o ousl-l 10
Rl Metds wRews - + d edel . ef

2t kel uldl o B 3 €, dl

dl=:

Options:

1 N2

e

5
£
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Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Two integers are selected at random from
the set {1, 2, ..., 11}. Given that the sum of
selected numbers is even, the conditional
probability that both the numbers are even
ig

Options:
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Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

q=d (1, 2, ..., 11} | 31 I gef= fag
T ¥ e ¥ fF < T dene w A un g
AT =Sl & W B4 F1 gufaay
(conditional) PIRETIEE

Options:
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Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AL {1, 2, ..., 11} #izll o yelisl qiElys dq
YAE sl U B, ed e 2dd vkl
HRAUYUL Y7 8 i 2ANE €1, oll AL et HvAl
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Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
L 1[ .k k) f
et fi(x)= iR b cos” x tor

k=1,2,3,... Then for all x ¢ R, the value of
fy(x) = [ (x) is equal to :

Options:
1
12

|-Fh||—-1'

5
12

Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
g k=1,2, 3, ... % fag

Silx) = f[Siﬂk.t' - cos® x )
?‘ﬁﬂqﬁxeﬂﬁﬂ_mﬁm fh{x}ﬂqﬁw
2
Opt_ions:
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Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

RIS f(x) = %[sinkx - cos® x ) el

k=1,2 3, ...5. dl Hcds x e R L2
f@O-f@Abuwa_____ 8
Opt_ions:

1

12

Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

In a triangle, the sumof lengths of two sides
is x and the product of the lengths of the
same twosides isy. If x> — ¢ =y, wherecis
the length of the third side of the triangle,
then the circumradius of the triangle is :

Options:
C
1. 3
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Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ST T <1 NS FT TEE 1 UAE y 2
afg 22— 2=y, &l ¢ Fy= = A o0 #=;
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Options:
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Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
25 [Esterl d-l o eyl dens»ii-l #zenl
x 2 oy o ellsgl <l deusuli-Al eusik v 9.
o x2 — 2=y, sedl ¢ 9 24l Bsieil ey clsgl
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Options:
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Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If qis false and p » q <> r is true, then which
one of the following statements is a
tautology ?

Options:
AT

e B

o pvr

4 (PpvI)o(pAar)

Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
qfG q ATAT T p ~ q <> r TA T, T FAH
H T ° FY TF TAE (tautology) &7

Options:
g BN
> p r

4 (pvr)—>(pnar)

Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
ol q Bl 2 2 p A q oo T L U A, dl
Al Usl 54 [aud Regped 97
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